Pre-Calculus Quiz REVIEW Name ) Hour: ___
Section 2.1 to 2.3 j
Evaluate.Write answerina + bi form. 1
1) (-4 +1)(3 - 51) il 2.) ~ [ 2+ B
V2 ¥ 200 +3-HD) i
~\2 4 2AEG o "
=7+ LY = = g, \

3.) Find all solutions to: x*- 2x + 17 = 0 (Write
answer in a + bi form. )
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4.) Given the function: f(x)= x*+x?-2x+1, use the
intermediate value theorem to determine if there is
azero between 3 and -2. (Show all work)

(N l'} ( ) £ ’ \q ~g-2Y 4 = 7
741/ -7 + 8 + 1 :
et (I
-\ Y ™)
\ . \ 7K A
\ \‘"
5-6 Fill in all of the requested 1nf0rmat10n and draw a graph of the function.
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c) Find the y intercept by plugging in zero for x. 7 T ; —
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e) Graph the polynomial function 2
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9) When a football is kicked, the helght of the football, in feet, can be modeled by , where x is the
horizontal distance, in feet, from the point of impact with the kickers foot. What is the maximum

height of the punt and how far from the point of impact does thls occur’? Ifthe baII is not blocked, how
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